Parts List

STOCK No DESCRIPTION QTY 7R3014

2F1204 |M8 Lock Nut

2F1211 |M6 Nut

2F1643 |M6 x 20mm Button Head Screw 251021

2F1658 |[M5 x 12mm Button Head Screw

2P1021 |[Split Sachet Plunger

2S1007 [Catch Plate Spring

2S1021 |Release Plate Spring

3C1017 |Mk10 Catch Plate

2F1211

3C1442 |Bulk Gun Cap 3 Bayonets

3C1453 |York Back Cap

3C1017

3P1006 [Steel 40mm 'Tin Hat' Plunger 3R1472

7XB048

3R1472 |Release Plate

7B2722 |[Barrel 220mm (Bayonet/Thread)

Rl |w|w]w]N

7C1026 |Bayonet Cap with Nozzle Holder and

7XB314
Leather Seal 2F1643

7R3014 |T Handle Rod 330mm 1
7XB048 [Metal Mk 10 Bulkhead Adaptor and 1
Nuts (Bushed)
7XB314 |Mk 10 Butt/Trigger/WCD Sleeves 1 251007

2F1204

7B2722
2F1658 3C1453

3P1006

2P1021

3C1442

7C1026

. & WWW.pccox.co.uk REV DATE
Ultraflow Combi 310 Sachet Od'.\ sales@pccox.co.uk

The original | TEL:44(0)1635 264500 D 15/12/2004




Parts List

STOCK No

DESCRIPTION QTY 7R3014

2F1204

M8 Lock Nut

2F1211

M6 Nut

2F1643

M6 x 20mm Button Head Screw 251021

2F1658

M5 x 12mm Button Head Screw

2P1021

Split Sachet Plunger

251007

Catch Plate Spring

251021

Release Plate Spring

3C1017

Mk10 Catch Plate

3C1442

2F1211
Bulk Gun Cap 3 Bayonets

3C1453

York Back Cap

3P1006

Steel 40mm 'Tin Hat' Plunger 3C1017

3R1472

7XB048
Release Plate

7B2722

Barrel 220mm (Bayonet/Thread)

7C1026

Rl |w|w]w]N

Bayonet Cap with Nozzle Holder and

7XB3
Leather Seal 2F1643

7R3014

T Handle Rod 330mm

[Eny

7XB048

[Eny

Metal Mk 10 Bulkhead Adaptor and
Nuts (Bushed)

7XB314

Mk 10 Butt/Trigger/WCD Sleeves 1 251007

2F1204

7B2722
2F1658 3C1453

3P1006

2P1021

3C1442

7C1026

3R1472

14

DATE

. i WWW.PCCOX.CO.UK REV
Ultraflow Combi 310 Sachet M sales@pccox.co.uk -

The original | TEL:44(0)1635 264500

15/12/2004




